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paper.
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Attempt A/l questions. - :

All questions carry equal marks.
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Define Investment. What factors should an investor

consider while making an investment decision ? 5
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Mr. Vinayak purchased the share of On-Line Ltd. for
¥ 50 five years ago. During the last five years, the

share exhibited the following average price and the

company declared for the following dividend : 10
Year Price Dividend
(in 3) (in %)
1 ; 70 : 5
(
i 76 6
3 80 6
4 -104 7
Siesik (- . i
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Calculate the NAV from the following information for

the year ending 31st March, 2016 : 5
Cash and Bank balance T 7,50,000
Bonds and Debentures ‘ T 8.00,000
Equity (Current market value) T 16,50,000
Quoted Govt. Securities 4 12,05,000
Expenses . . ¥.9,50,000
No. of units 2,00,000

If the NAV on Ist April, 2015 was ¥ 20 per unit,

calculate the expense ratio.

ﬁmﬁf@ﬁ@mﬁadm A, 2016 B NAV
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Discuss : ' 3

0] Book building

(i) Rolling settlement_. 9
e Hivg

» T fimior (Book building)

Gy e IR (Rolling settlement) |

Ex;ﬁlain Efficient Market Hypothesis and the three
forms of Market Efficiency. What is the level of

efficiency of the Indian Capital Market ? 8

Find average

data given above.
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2 76
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4 104
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return and risk of the investor using the
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B'fstinguish between (any rwo) : 3
(i) Expected return and Realized return
(i) Beta and Standard deviation
(fif)  SENSEX and NIFTY,
frdl @ F sim wifw
)  smmfed aeEt siR W AT
Gy SR IR AEE faeem
Gi) W SR ot |
Mr. Abhinav makes an investment at ¥ 100. The
year-end price of this investment under different

market conditions and their probabilities are given

below : ) 10
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Explain the role of correlation coefficient in the

construction of a portfolio. S5

W WeRfr # fmin § wweay s 5
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What do you mean by futures ? How are they different

from Forwards ? 5

'y’ (Futures) ¥ 319 347 qEa E 2 A yeEy
¥ 9 fim §

An investor buys a NIFTY futures contract. for .
¥ 2,80,000 (lot size 50 futures). On the settlement date
the NIFTY closes at 5512. Find the p-roﬁt/loss if he
pays ¥ 1,000 as brokerage. What.would be the position

if he has sold the future contract ? 5
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Two securities A and B have variance of 13 and 15

and expected returns of 15% and 18% respectively.

The covariance .Setween the returns is 3. Find out the
-

return and risk of the portfolio if the ratio of invest-

ment in two securities is 70% and 30%. 5
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The shares of Blue Diamond Ltd. are quoted at

# 25. Mr. Grover writes a call option at a strike price

" of ¥ 29 and a premium of ¥ 3. Calculate his net payoff

if the market price on the expiration date is ¥ 24 or
7 26 or T 32 or T 35. At what niarket price Mr. Grover

will be in no profit no loss situation ? - e

¢Sy 577

Conditions Year-end price Probabilities
Bullish T 160 030
Normal T 120 ! 030

Bearish T 80 040

(N Find out the expected return and risk for one

year period.

(i) Also calculate inflation adjusted return if the

rate of inflation during the year is 6%.

ﬁ.aﬁﬂaﬂoomﬁﬁ?ﬁmm%|ﬁﬁm
S qomel ® ad @ e # fafwEem T
ﬁ?ﬁﬂﬁﬁmﬁi*ﬁ%ﬁﬂﬁ%:

w1t aui ¥ g A
G M IC] 7 160 030
g 120 030

_dﬁ"f'mv@i 780 040
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Differentiate between (any two) : -5

K] Si/stematic risk and Unsystematic risk

(ii) Yield to Maturity (YTM) and Yield to Call (YTC)

(7i))  Secured Premium Note (SPN) and Deep

Discount Bond (DDB).
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What is Mutual Fund ? 'Explain the difference
between Open Ended Mutual Fund and Close Ended

Mutual Fund. sy
A BE B & ? Tel-3neRa Rygsret
HIfe |
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From the data given below, find which of the follow-

ing securities is overpriced/underpriced/correctly priced

using SML equation or CAPM l: 10
Securig g A-ctual Return
A i 20
B 1.0 15
C 1.6 2
D 20 4
E 05 8

The return on the market index is 15% and risk-free

return is 6%.

A few M sl A Frefafen e §
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The following information is available in respect of

a bond :

* Face Value - % 1,000
Market Price : T 879
Coupon rate HE ()
Investor yield : 10%

Time to maturity : . 4 years

Find out the Yield to Maturity (YTM) and Instrinsic
Value of the bond. Should the investor buy this bond
based on YTM and intrinsic value ? 10
T T % ued A frafatem g
Eiici. i S

sifra o 21,000
BRI o
HIA T .. 8%
fafeer =1 afsr . 0%
JRgeral  srafy b g
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Exémine the relationship between Time to Maturity and-
Bond Valuation. : 5
aftgsaar § w9F SR SUTH HEART &
weg gy H qem ST | ‘
Mr. Ashutosh Vis c'onsideriﬁg in\;esting in one of the
following bonds :
Bond A Bond B (

Face Value Z 1,000 Z 1,000
Coupon rate 12% 10% o
’Time_ to maturity 10 years 7 years
‘Current market price T 700 % 600

(a)
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~ “Capital Market Line shows all the combinations of

risk-free investment and the Market Portfolio.” Explain
in the light of this statement rheaning' and features

of Capital Market Line (CML). 5
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Explain how Point and Figure‘CharI (PFC) and
Candlestick Chart are used by technical analysts to
predict future behaviour of prices. 5
ﬁ!ﬁﬁﬂi@ﬁﬂmqaﬂtmmﬁuﬁw
3 Tt & W orER & forg R fae
g v R W € '

Rajan Ltd. has just paid a dividend of ¥ 2 per share.

in view of the rapid growth of the company, the

dividend is expected to grow at 20% p.a. for .{he next
three years. Subsequently, the earnings are expected
to grow at only 7% p.a. infinitely. With the expected
rate of return at 22%. find out the price an investor

should be ready to pay for the share. 10

€69 5) 5T

If Mr. Ashutosh’s income is taxed @ .30% and capital
gain ‘is taxed @ 10%, find the post-tax Yield to
Maturity from these bo_nds using approximation
method. Which bond should be selected by Mr.
Ashutosh 2 . ’ 20
fr. smydm Frefefgs duwi # § @ F
fafrdem ®t@ T €
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sifra A - %.1,000 Z 1,000
FOA l : 12% 100/;
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Define credit rating. Do you think that high credit
rating is a recommendation to buy the bond. 105
e AV w 9Rwfm @i o g e
o ¥ R s mmm dviem ¥ osuny @
fawfer w2

The following information is available for S Ltd. for

lhe.year 2014-15 : 10
Annual turnover ? 1,00,00,000
Profit : 30%
Equity Share Capital (FV = 10) ¥ 10,00,000
Capital Reserve ¥ 5,00,000
12% Preference Share Capita-l T 15,00,000
13% Long-term Loan T 12,00,000
12% Debentures : T 10,00,000
Tax Rate ‘30%
Dividend payout ratio 50%
Price Earning (PE) ratio 15

(O & 577

Find Earning Per Share (EPS), Dividend Per
Share (DPS), Market Price, Earning Yield and Dividend

Yield.

a4 2014-15 B o w. fo. @ fore. frer g
ey F .

ot famt % 1,00,00,000
Y _ 30%
w9 §Sit (Fv = 7 10) ¥ 10,00,000
it frord | | 2 5,00,000
12% afmm s R ? 15.00,000
13% STEhTeT 3oy 21200000
12% g3 ' T 10,00,000
L TT i 30%
TN SRR ST

(Dividend Pay-out Ratio) 50%

A FH YT H @Y

391 (PE Ratio) 15

BTO.



	d93fca2e54f5759f4207ee0e8e1d1145df0480d7fc2d9e0db8c59aaa3bcedc9b.pdf
	d93fca2e54f5759f4207ee0e8e1d1145df0480d7fc2d9e0db8c59aaa3bcedc9b.pdf
	d93fca2e54f5759f4207ee0e8e1d1145df0480d7fc2d9e0db8c59aaa3bcedc9b.pdf

